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QUESTION 1
Identify two approaches that you should follow in your OSM design in order to support multiple versions of cartridges.

A. When there are multiple versions of a cartridge with multiple versions of an order, order recognition rules must be
modeled to recognize a specific version of the order instead of the default version.

B. When there are multiple versions of a cartridge with multiple versions of an order, a single order recognition rule
should be modeled to recognize all order versions.

C. To recognize a specific version of an order, the Target Order version of the order recognition rule should be set to the
revision of the cartridge where the specific version of the order resides.

D. Multiple versions of orders are supported when modeling cartridges in Design Studio, but only one version of an
order should be deployed at the same time in a running environment.

E. When deploying a new version of an existing cartridge, the new version of the orders should be compliant with the old
version, because orders will be automatically migrated to the newer version.

Correct Answer: AD

QUESTION 2

A customer purchases ABC service for which a new order is submitted to Order Service Management (OSM). Activation
for this service is under execution, indicating that the point-of-no-return has not yet been reached, when the customer
decides to change the ABC service to XYZ service.

Which two OSM features can you use to handle the customer\\'s request?

A. Order Change Management

B. Order Fallout Management

C. Future-dated orders

D. Follow-on orders

E. Creation of new orders

Correct Answer: AD

QUESTION 3

Which three pieces of advice would you offer a developer who is responsible for configuring the CRM and Middleware
systems that submit revisions to OSM?

A. Use a unique identifier for each order and the same identifier for its revisions.
B. Always submit changes to services already provisioned by using revisions.

C. Have a numeric field that increases its value with every new revision.
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D. Revisions should have a distinct message schema from the original order.
E. Always use the same interface when submitting either an order or a revision.

Correct Answer: ABD

QUESTION 4

When designing a new data schema (or data dictionary) in Design Studio, you decide to define some
behaviors for an element. You also decide that these behaviors should apply without changes to all orders
and tasks that use this element.

How would you accomplish this task during your data schema configuration?

A. by simply creating the behavior in the data schema

B. by using the behavior inheritance configuration in the data schema

C. by defining your field as required in the data schema

D. by configuring your field as significant in the data schema

E. by adding a Relevant Behavior to the element in the data schema

Correct Answer: A

QUESTION 5

Why would you use the following XPath expression while defining a behavior for a task?

instance (“List”) /Element/Name

A. to apply a condition to the behavior

B. to access data from a database

C. to include complex logic in the behavior
D. to get a list of values from the task data
E. to launch a parallel automated task

Correct Answer: D
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